~

FULLY AUTOMATIC QUARTZ/DD TURNTABLE

with COMPUEDIT.

SANSUI P-M7

'SANSUI ELECTRIC CO., LTD.

® SPECIFICATIONS

'Type ........... Direct-drive turntable
Rated speeds . . . .. . 33-1/3, 45 rpm
Platter s e el v 0 Aluminum alloy diecast,

306 mm (12-1/6") diameter,

0.6 kg (1.3 Ibs.) weight
Motor e Coreless DC/quartz servo
Wow /flutter . . . . . .. 0.028 % (WRMS)
Signal-to-noise ratio Better than 72 dB (DIN-B)

Better than 60 dB (IEC-B)

Tonearm . S 8o e Static balance, low-mass tonearm
Effective tonearm length _

............ 142 mm (5-5/8")
Cartridge BE s te Dual Magnet type (SV-S303)
Output voltage . . . . . 2.4 mV (1,000 Hz, 35.4 mm/sec)
Correct load impedance

............ 47 kohms
Frequency response . . 10 ~ 22,000 Hz
Stylus S o 0.6 mil diamond stylus

(SN-S303) replacement stylus

Dimensions . . .. .. . 345 mm (13-5/8") W

99 mm (3-15/16"”) H

360 mm (14-3/16") D
Weight 220 A7 g m e 5.8 kg (12.8 Ibs.) net

6.6 kg (14.6 Ibs.) packed
Power consumption .. 20W

* Design and specifications subject to change without
notice for improvements.



P-M7

1. BLOCK DIAGRAM

- - > PJ fQ3
Musi 140 ' Terminal(MB884 1-566M) 'j
usic 0 34 s 36 37"
Selection S 50 ! o _ \33 N EE 12 0
| | bar .
4 _39
o a 1 fiCn
CLEAR 43 —1 5;3_[ _6:-6_] ,_3?,_]
REPEAT {3 =T =T _.3]40 '
Le] I3/ Bown '-07 '_Oz 1] Computer
UP/DOWN {3 e ‘514' e +5V +5V € ditig
13 | [Rereat [ eLear [0 1 EXtal Xial ‘RESET Vec 1
A o - 1= 1Ay
MANUAL = '© | _ ~ _ | 34|Ri2 __SI . % QL ind.
START g 35|Rit SC/TC . fOI gLDs
top 1o 36|Rio _ Re P! e —
37|Rs E“hcro Pole 7 , |
{ 38|Ko omputer Pi |io I_'
39 | K1 Pz |1 {D—_I

v gLDi|{ Music
SD Selection Ind.
” wolka fIC3 i T L07 ; I
ICa Y
== La1|K3 MBB884| Oo|i3 |
A Sensor fLOI ¥ = K fOs R FTDIE-E 26|ra -566M 0, |a R I LDB- H
: s 02ls ' fICz Repeat Ind.
BSensor  fLD2 ¥ = K f0s S ESDSE 27)cs osle _‘ e
1 - CPU Ind.
CSensor  fLD3 ¥ 2 [ fO7 ly ?_E 28 o7y x4 3 > ..jﬂfo. 3LDI0
1
| I
U Sensor Q_CUP > .29 ps Muting Os m
I DOWN 30| 19 Normal
D Sensor oo > —R8 (D Sensor) /S 0s j l > o Speed Select
" 211RQ (E3 Signal) g 910
Micro Switch o ol s Sendly5 ) 46 07 22 o < /
> TC (E2 Signal) rJlQE_I fICs Inverse @
32{Ri0 CCWr, |24 151531 > 2\1 N Driving
33 - My M: 25 fap 2! 3 M Tone Arm
Ri(F2 CW COW CWR3 1358 T + = Vertically
Signad) Ri Ro fics b e———m e 1
23 |22 =2 i 0
J\ A : @ Isi Blé.'é]g 1 s 7 Driving
o 1121 6 l|| [ IIO + Tone Arm
I__J?:T ficaT 5 . Horizontally
N 3

H fQs N =<t
Arm Servo Sensor " :
& Rros i
5

R

Analog Switch

Fz
fics flCe

s 1
13 i
14 3 !
E Sensor +
/1/ 12 -
h

i

; fiCe
F Sensor 10 :
9 -
. g 5 a L2
10 fiCio © fICn fICa

B a
\
\ /
2 5.5296MHz
+B , 2105 2 ju o "

Sensor Sensitivity Selection elCy PLL S/S 33745
LOCK

TC9I124P
. PLL FG
! . 3 7 e

E
PLL =

e

90 Pulses
334 rpm 50Hz
I 45rpm  67.5Hz

SSD-1_MOTOR CONTROL




P-M7

2. OPERATIONS (See Fig. 2-1, Fig. 2-2, Fig. 2-3, Timing Chart a_hd Block Diagram)

This fully-automatic player is of the linear tracking arm type, being

provided with the following various functions:

1) automatic random music selection (seven musics);

2) automatic record disc size selection (30cm- 25cm-and 17cm-dia.
discs);

3) automatic speed selection according to disc sizes (33 1/3 rpm
and 45 rpm); and _

4) computer editing in cooperation with a cassette deck (D-M7,
SC-A33, D-570, and D-370).

2-1. Fully-automatic System Outline

This fully-automatic system player comprises 1) an automatic
mechanism for driving a tone arm horizontally and vertically and 2)
a control section for electrically control the automatic mechanism.
The automatic mechanism assembly includes tone arm position sen-
sors (A, B and C sensors), lifter position sensors (UP and DOWN sen-
sors), an arm servo sensor, and an automatic disc size selection sen-
sor (E sensor) and an automatic music selection sensor (F sensor)
both mounted on the tip of the cartridge, in addition to the auto-
matic mechanism, in order to detect the conditions of the tone arm.
The control section includes a microcomputer MB 8841-566M and
its peripheral circuits, in order to control 1) start/stop of a DD
motor, 2) lead-in, lead-out, return, repeat, and up-and-down move-
ment of the tone arm, and 3) automatic disc size selection, auto-
matic music selection and automatic disc speed selection, in re-
sponse to each output signal outputted from each sensor.

2-2. Automatic Mechanism Assembly Operation

1. In order to drive the automatic mechanism assembly, that is, to
drive the tone arm horizontally for tone arm lead-in and lead-out
operations, the revolution power of the micromotor (1) is trans-
mitted through a belt (A), a warm gear (A) a drive gear, and a
wire.

2. In order to drive the tone arm vertically for tone arm up-and-
down movement, the revolution power of the micromotor (ll) is
transmitted through a belt (B), a warm gear (B), a lifter cam, and
a lifter plate. The tone arm is driven vertically by moving up and
down an arm holder weight mounted on an arm shaft.

2-3. Each Sensor Function For Fully-automatic
Operation ’

A. A Sensor, B Sensor, and C Sensor

As shown in Fig.'2-2, the A, B, and C sensors detect tone arm posi-
tions required for automatic operation in such a way that three
phototransistors (fQ5, fQ6 and fQ7) are turned on or off whenever
a position guide moves between three phototransistors mounted on
a sensor holder and covered by a slit plate and three LEDs (fLD1,
fLD2 and fLD3).

The A sensor detects the lead-in positions of 30cm-, 25c¢m-, and
17cm-dia. discs and the lead-out position of a 17cm-dia. disc. Fur-
ther, the B sensor and the C sensor detect in combination the disc
size selection positions of 30cm-, 25cm-, and 17cm-dia. discs.

The B sensor detects the lead-out positions of 30cm-and 25cmddia.
discs and the positions required for operating the automatic music
selection sensor (E2 sensor). That is to say, when the E2 sensor
detects some lead-over groove while the B sensor is kept turned on
(in this case the input port pin No. 27 of the microcomputer is at a
L-voltage level), the tone arm stops and begins to come down.

The C sensor detects the disc size selection position of a 17cm-dia.
disc in combination with the A sensor.

B. UP (U) Sensor and DOWN (D) Sensor

The U sensor and D sensor are made up of a lifter cam and two
microswitches. The U sensor detects the up-position of the tone
arm, and the D sensor detects the down-position of the tone arm.
When the U sensor or D sensor detects the up- ‘or down-position of
the tone arm, the terminal of each microswitch is grounded.

C. E Sensor and F Sensor

Being mounted on the tip of the cartridge, the E sensor and F sensor
supply three signals required for automatic disc size selection and
automatic music selection to the microcomputer, after having di-
vided the output signals into E2, E3 and F2 signals through an elec-
tric circuit.

e E?2 signal

The E2 signal is a music number counting signal required for moving
down the tone arm at a desired music position during the automatic
music selection operation. When the E sensor detects a desired lead-
over groove and the E2 signal is generated (changes to a H-voltage
level) (in this case, the input port pin No. 33 of the microcomputer
changes to a L-voltage level), the tone arm stops moving horizontally
and next begins coming down.

Fig. 2-1
Wire Arm Shaft Bearing
/
——1 &== e ——— / \
Arm Servo Sensor @
== = T e S Ty :
= =] |
® Arm Holder
Micro Auto Mechanism Ass'y—t= j\Melg ht
Motor(I)
® Lifter
Positi Guid 3t Plate
osition Guide . ]
o _ @1 ™9 J2|U Sensor
Warm Gear(A) Belt(A) —+Micro SW.
C — C———— é ]
]
i J
S— o - _j’_
Warm Gear(g) D Sensor Lifter Cam
Micro SW.
Sensor Holder ]
A,B,C Sensor / —
5-0112(fQ5.106.1Q7) ' ._L
Sint Plate

Posimon Al I

Guide
5-0111{LD1.ILDZ.ILD3)

Fig. 2-2

E, F Sensor




P-M7

e E3signal

The E3 signal is a signal to detect the size and the presence or ab-
sence of a disc. In the tone arm lead-in operation, if the E3 signal is
generated (changes from a L-voltage level to a H-voltage level) (in
this case, the input port pin No. 4 of the microcomputer changes
from a H-voltage level to a L-voltage level) when the A, B and C
sensors are generating the respective signals as depicted within the
zones @,and ©shown in Fig. 2-3, the respective disc sizes of
30cm, 25cm and 17cm are selected.

After the E3 signal has been generated within the zones@®),®and ©
shown in Fig. 2-3, the tone arm stops moving horizontally and next
comes down when the A sensor generates a L-voltage level signal (in
this case, the input port pin No. 26 of the microcomputer changes
to a H-voltage level) or a H-voltage level signal (in this case, the
input port pin No. 26 of the microcomputer changes to a L-voltage
level). Further, in the case where no E3 signal is generated within
the zones@,and@ it is determined that there is no disc on the
turntable.

e F2signal

Being different from the E2 and E3 signals, the F2 signal is a signal
to indicate that the F sensor detects a lead-over groove when the
stylus is tracing a music on a record disc.

The F2 signal serves as follows:

The lead-over groove of each music is detected in the automatic
music selection operation. In the case where the last music on a re-
cord disc is selected, the instant the last lead-over groove (lead-out
groove) is detected, the F2 signal changes from a L-voltage level to a
H-voltage level (in this case the input port pin No. 33 of the micro-
computer changes to a L-voltage level, so that the tone arm begins
to return.

Fig.2-3
Position Guide
A SENSOR —— A
B SENSOR : [ ] ]
C SENSOR H ! P I P
MBB841 i ; b HE N
Pin | | i ' i b
SENSORS No. i ' H 1 HEH
. : ! i j
: 111 7em r PP 7em
A SENSOR | 26 [ Fees T [ Fa i  |Lead-in i |Lead-Out
| : P ¥ 30(25)cm
B SENSOR | 27| 5' b S0(25)ar
C SENSOR |28 | i ' :
: i T
: 1
E3 SENSOR | 4 l 30cm 25cm 17cm
i Selection [#H Selection Selection
i 30cm 25cm
: Selectlon Selectron 17cm
! Zone Zon Selection Zone
17cm Play ——
30cm Play

D. Arm Servo Sensor

While the stylus is tracing a music on a disc, it is necessary for the
stylus to be in contact with the disc at a right angle to the modu-
lated glooves formed in the disc.

The arm servo sensor detects stylus inclination from a right angle to
the modulated grooves, while the stylus moves on a disc. The incli-
nation angle of the stylus is checked by a photo interaptor of the
arm shaft bearling and two photo couplers (fQ8 and fQ9).

When the stylus inclines from the right angle, the photocoupler fQ8
or fQ9 is turned on according to the direction in which the stylus
inclines, in order to activate the analog switch fIC6. In response to
‘the signals from the photocouplers, the micromotor (Il) rotates
clockwise or counterclockwise in order to control the tone arm so as
to be in contact with the modulated groove at a right angle.

E. Music Selection Sensitivity Switching Circuit

The automatic music selection operation must be accurate, without
producing any positioning error when moving down the tone arm
onto a disk, even if there are various dimensions in the width of
lead-over groove. '

This music selection sensitivity switching circuit can adjust the sen-
sitivities of the E2 and F2 signals at the same time. As shown in
the block diagram, the reference voltage applied to the comparator
is adjusted to three stages by using a sensor sensitivity se[actor
switch.

2-4. Microcomputer Output Peripheral Circuits

A. Micromotor control circuit

1. Operation of tone arm horizontally driving micromotor (1)
The micromotor operates according to the tone arm up- or
down-condition as follows:
® Where the tone arm is up;
When the pin No. 22 of the microcomputer becomes a L-voltage
level, the micromotor (l) rotates counterclockwise to perform
the lead-in operation. On the other hand, when the pin No. 23 of
the microcomputer becomes a L-voltage level, the micromotor
(1) rotates clockwise to perform the lead-out operation.
® Where the tone arm is down;
When the tone arm is in a down-state, the micromotor (I) rotates
clockwise or counterclockwise in response to the output signal
from the arm servo sensor (fQ8 and fQ9) to control the tone arm.
Further, when the tone arm is down (in playing a music), since
the pins No. 6 and No. 12 of the analog switch become a L-
voltage level, the micromotor (I) does not rotate in response to
the output signal from the pins No. 22 and No. 23 of the micro-
computer.

2. Operation of tone arm vertically driving micromotor (Il)
When the pin No. 24 of the microcomputer becomes a L-voltage
level, the micromotor (I) rotates counterclockwise to move the
tone arm up or down. If the UP/DOWN key is depressed while
the tone arm is moving up or down, the pin No. 25 of the micro-
computer becomes a L-voltage level and, therefore, the micro-
motor (Il) rotates clockwise to move the tone arm up or down.

B. 33 1/3 and 45 rpm Automatic Selection Circuit
According to the size of .a disc, the revolution speed (33 1/3 or 45
rpm) of the turntable is automatically determined. When the E3
sensor detects a 30cm- (25cm-) dia. disc and a 17cm-dia. disc, the
pin No. 20 of the microcomputer outputs a L-voltage level signal for
the 30cm- (25cm-) dia. disc, and a H-voltage level signal for the
17cm-dia. disc. This output signal is inputted to the pin No. 10 of
the DD motor control IC (TC 9142P : elC1) via the speed selector
switch (fS2). The turntable rotates at a speed of 33 1/3 rpm when
the pin No. 10 of elC1 is at a L-voltage level, and at a speed of 45
rpm when the pin No. 10 of elC1 is at a H-voltage level.

The relationship between the speed selector switch, the record disc
size, and the revolution speed is listed in the following table:

SPEED SELECTOR RECORD SIZE
SW(fs2) 30, 25cm-dia. | 17cm-dia.
) ' MB8841 Pin No. 20 L H
NORMAL TC9142P Pin No. 10 L H
Speed [(rpm) 334 45
MB8841 Pin No. 20 L H
INVERSE TC9142P Pin No. 10 H L
Speed (rpm) 45 33)4



C. DD Motor Control Circuit )

If the START/STOP switch is depressed when the turntable stops, a
L-voltage level signal is outputted from the pin No. 19 of the micro-

computer and is inputted to the pin No. 11 of the DD motor control

IC (TC9142P). When a L-voltage level signal is inputted to the pin

No. 11, the turntable rotates.

D. Music Selection Indicator Circuit

In the automatic music selection operation, the selected musics are
stored into the microcomputer and displayed on the indicator.

In playing a music, the indicator light blinks as follows:

When the tone arm lead-in operation stops in a modulated grbove,
the indicator light begins to blink the instant a lead-over groove is
detected (the F2 signal changes from a L-voltage level to a H-voltage
level). Further, when the tone arm stops in a lead-over groove, the
indicator light begins to blink the instant the micromotor (Il) stops.
Furthermore, in continuously playing musics, the indicator light
begins to blink the instant a lead-over groove is detected (the F2
signal changes from a L-voltage level to a H-voltage level).

E. Computer Operation Indicator Circuit

The output signal from the pin No. 17 of the microcomputer turns
on or off the fQ1, so that the indicator light blinks.

The indicator light blinks during the micromotor (I) or (Il) is ro-
tating. However, in case of such a miss-programming that only one
music number not included in a record disc is selected or in case of
no record disc, the indicator blinks much faster then its of normal
operation after the return operation begins.

® MICRO COMPUTER
Timing chart 1 AUTO MUSIC SELECTION 2-3-5 (30cm, 33 rpm)

P-M7

F. Muting Circuit

The muting circuit is a circuit to short-circuit the output signal from

the player, where necessary.

The muting operation is performed by using the output signal from

the pin No. 18 of the microcomputer.

1) In the automatic disc size selection and the UP/DOWN key de-
pression, the muting is off when the tone arm is down, and is on
when the tone arm is up. }

2) In the automatic music selection operation (See Timing Chart),

the muting is off the moment the tone arm moves down com-
pletely after the lead-in operation (the micromotor (Il) stops
rotating counterclockwise).
Further, when the stylus moves down onto a modulated groove,
the muting is off the moment the F sensor detects a lead-over
groove (the F2 signal changes from a H-voltage level to a L-
voltage level).

G. Computer Editing Circuit

In the same way as in the muting circuit of the player, the computer
editing operation is performed by connecting the output signal from
the pin No. 18 of the microcomputer to the pause circuit of a
cassette tape recorder through a AND circuit. This circuit controls
the recording on-or-off operation on the cassette tape recorder side
in accordance with the automatic operation on the player side.

In other words, when the muting on the player side is on (the pin
No. 18 of the microcomputer is at a L-voltage level), the pause on
the cassette deck side is on; when the muting on the player side is
off (the pin No. 18 is at a H-voltage level), the pause on the cassette
deck side is off.

MICRO COMPUTER MB8841-566M AUTO MUSIC SELECTION 2-3-5(30cm, 33rpm) “l |'—| 1 /—(
MUSIC SELECTION (2-3-5)—LEAD IN( 1 )—PLAY2— e O )i Ll
INPUT/OUTPUT PORT |PIN No. —PLAY3—CUT (UP/DOWN)—PLAY5—LEAD OUT ST 4 T3 3 1212 (1 P!;S
REST |
A Ra 26 | I .
B Rs | 27 | [
C Re 28
U R7 | 29 M| L 1 I |
SENSOR -
D Rs 30
5 E2 TC 8 (1)Selection (4)Selection
% Es IRQ u 30cm Selection
F2 | Ru | 33 2) (3) (5)
START/STOP SW. |Riz, Kol 34, 38 START
UP/DOWN SW. Ri3, K2| 35, 40 p Uoown
' Ris, K 4
MUSIC 2 15, K2| 37, 40 u
SELECTION Ris, K1 37, 39
SW.
R14, Ko| 36, 38
MICRO Cw R1 23 J
MOTOR(I) | ccw | Ro | 22 .
MICRO cwW R 25
MOTOR (1) ’ | | |l
(Lifter) CCW | Rz 24 acLJoown uP uP DOWN uP
= START START DOWN e
5 [ooMoTOR SHEL | 06 | 19
'g MUTING 0s | 18 ON OFF on |OFF N OFF N
SPEED 33/45rpm. 07 20 . 33rpm. L Lelel
2 Py 10 Lignted / ﬂ/ﬁér”
MUSIC _ 1 I
SELECTION| 3 | Pz | 11 Lighted V@ 7,
Indicator - o 13 Lighted /5//




® MICRO COMPUTER
Timing chart 2 AUTOMATIC RECORD SIZE DETECTOR (17cm, 45 rpm)

MICRO COMPUTER MB8841-566M

AUTOMATC RECORD SIZE DETECTOR

(17cm  45rpm) [ L F}N_mlﬂes‘
INPUT /OUTPUT PORT |PIN No.|  17cm LEAD IN—PLAY—REPEAT—CUT—RETURN gt
A Ra 26 1 u [ 1 [ 1 u L
B Rs | 27 | [ | |
sensor || Re | 28 | 11 I I
5 u R7 | 29 l [ |
2 D | Rs | 30 l | | I
Ea TRQ 4 u‘?cm Selection Um:m Selection
START/STOP SW |Ko,Riz[38,34|  |Jstart [sror
REPEAT SW K3, Ri3| 41, 35 oN
Micro Cw Ri 23 1] lrepear | ] |LeAD ouT [
Motor (1) [ cew | Ro | 22 " eerom |
o | Motar ([ o 20 ; H
g (Lifter) CCW | Rz 24 095~ _Joown uUP uoowuup
3 | SPEED 33/45rpm | 07 | 20 | 45rem. |
REPEAT IND. 03 16 "] Liented
DD MOTOR SPRT [ 0s | 19 | ~ -|smaer [
MUTING' Os 18 ON | OFF | ON OFF ON

® MICRO COMPUTER
Timing chart 3 MANUAL RECORD SIZE DETECTOR (17cm, 45 rpm)

MICRO COMPUTER MB8841-566M

MANUAL RECORD SIZE DETECTOR
(17cm 45rpm)

INPUT/OUTPUT PORT |PINNo.l  17¢m LEAD IN(MANUAL)—PLAY— CUT=> PLAY—LEAD OUT—RETURN ) Arm Rest
A Re | 26 L U l [ L I
B Rs | 27 | [] | [
C Re | 28 |
SENSOR
U R7 | 29 [ | | |
5 D Rs 30 l_
o p——
< Es IRQ 4 u 7cm Selection
START/STOP SW | Ko, Ri2| 38, 34 sTarT
UP/DOWN SW K2, R13| 40, 35 . unowm uup DOWN
MANUAL 4 SW K1, Ri3| 39, 35 j_low
MANUAL P> SW Ko, R13| 38, 35 ON
Micro CwW R 23 l_ RETURN
Motor (1) [ cow | R | 22 1
— Micro CcwW R3 25 u .'
= Motor (II)
5 (Lifter) cCcw Rz 24 I_looww uP I_ DOWN uP
© | opomMoTOR SIRT | 06 | 19 START
MUTING Os 18 ON OFF ON OFF ON
SPEED 33/45rpm 07 20 Jasrpm




3. ADJUSTMENTS

Note: Before adjustments of 3-1 and 3-2, remove the arm rest only.

3-1. Adjustment of Automatic Disk Size
Selection Operation (See Figs. 3-1, 3-3 and 3-4)

1) By using 30cm size record, actually carry out the automatic disk
size operation (lead-in operation). Adjust the lead-in adjusting
cam (See Fig. 3-4) by the tone arm placed on the arm rest (the
position (A as shown in Fig. 3-3 so that the stylus tip may
come down to the position (the lead-in groove position) 146 mm
away from the disk center (See Fig. 3-1).

2) By using 17cm size record, actually carry out the automatic disk
size operation (lead-in operation). Confirm that the stylus tip
may come down to the lead-in groove position.

Fig. 3-1 Cartridge

i
| N

! 146mm

3-2. Adjustment of Automatic Music Selection
Operation (See Figs. 3-2, 3-3 and 3-4)

® Required disc and measuring instruments
1) Tester (DC voltmeter)
Input impedance: 50kohm/V or more. (The higher, the better)
2) A vinyl chloride record disc without grooves or with wider lead-
out spiral than usual.
3) A rule with graduation marks starting from the edge.

A. Tone Arm Height Adjustment

Adjust the stylus and disk as shown in Fig. 3-2, by rotating the tone
arm height adjusting screw (See Fig. 3-4) to the position as
shown in Fig. 3-3. (Stop the stylus at a position about 130 mm away
from the disk center.)

l ﬁ Disc without grooves
6mm L
¥ I

| ~

#130mm

| é ]2 Disc with grooves
B
6mm 4

Lead-out groove \

Fig. 3-2

Fig. 3-4

B. Sensitivity adjustment of E and F sensor

1. Setting
At the tone arm position, in case of a record disc without
grooves, stop the stylus at a position about 10 cm away from the
disc center. In case of a record disc having grooves, stop the
stylus above the flat surface nears 10 cm away from the disc
center.

2. How to adjust (See Fig. 3-3, Top View on Page 8)

a) Connect the DC voltmeter across the test terminal E and G
(ground) and then adjust the voltage to DC 1V by rotating the
volume (fVR1) <E sensor adjustment>

b) Connect the DC voltmeter across the test terminal F and G
(ground) and then adjust the voltage to DC 1V by rotating the
volume (fVR2) <F sensor adjustment>

Note: When adjusting both the sensors with the stylus stopped on a

lead-over groove of an ordinary record disc, note that there is
a difference in detection position between E sensor (leading
sensor) and F sensor.

C. Level adjustment of F2 signal

1. Setting
Set the stylus in the same way as described under Section 2, and
then move the tone arm downward. (Check that the stylus stays
on a lead-over groove.)

2. How to adjust (See Fig. 3-3, Top View on Page 8)

a) Connect the DC voltmeter across test terminal F5 and G (ground)
and then adjust the voltage to DC 1V by rotating the volume
(fVR3).

Fig. 3-3

Tone Arm Height
Adjusting Screw

Lead-In
Adjusting Screw

Test Terminal

Tension Adjusting—
Screw

Make two(2) turns—
around this ;

Arm Servo Adjusting Cam

Sensor Holder
Fastening Bolt

Tone Arm Height
Adjusting Screw

Lead-In
Adjusting Cam



D. Delay adjustment of E, signal

1. Setting

Use the record disk in which many musics (about seven music

tracks) are recorded, and select three music tracks having lead-over

grooves, respectively, near positions 70mm, 100mm, and 130mm

away from the disc center.

2. Adjustment (See Fig. 3-5, Top View on Page 8)

Perform the respective lead-in operations for three selected music

tracks, and adjust the operations by rotating the volume (fVR4) as

shown in Fig. 3-3 so that the stylus comes down on or a little before

the lead-over grooves for the three music tracks. If the volume

(fVR4) is rotated clockwise, the lift-down position of the stylus is

shifted inward.

Note: In the lead-over grooves existing on a 70mm-or-less from the
center, the misplacing of the arm in detection position occurs
inevitably.

Fig. 3-5 Cartridge

Disc

7cm { |
10cm 1
13cm

Note: Remove the cabinet before adjustments of 3-3 and 3-4.

How to remove the cabinet. (See Top View on Page 8)

1) Unscrew seven cabinet-mounting screws on the bottom of the
chassis.

2) Remove the E-ring fixing the turntable to the spindle of the
motor.

3) Remove the player case cover.

4) Move the tone arm to the player case cover position by depress-
ing the MANUAL key ( € ), before removing the cabinet.

3-3. Arm Servo Adjustment (See Fig. 3-4, Fig. 3-6)
A. Setting '

1) Move the tone arm leftward and stop it within the record-play-
able range by depressing the MANUAL key ( » ).
2) Move the tone arm downward by depressing the UP/DOWN key.

B. Adjustment

1) Loosen the sensor holder fastening bolt, and adjust the arm servo
adjusting cam so that the tone arm does not move in either direc-
tion, in the state where the tone arm is in the down position.

2) After adjustment, check that the voltage across the connector
terminals No. 9 or TP6 and GND of S-0107 (across the terminals
of the micromotor (1) is within OV +1V when the sensor holder
fastening hexagon bolt is fastened.

3) Check that the tone arm will not move in either direction when
the UP/DOWN key is depressed repeatedly.

Fig. 3-6 Arm Servo Adjusting Cam

N/
WLl

-Sensor Holder
Fastening Bolt

4 c T~ ]

3-4. Tension Adjustment of Tone Arm
Horizontally Driving Wire (See Fig. 3-4)

Move the tone arm by depressing the MANUAL key and adjust the

tension adjusting screw so that the wire does not slip along the driv-

ing gear.

Note: Care must be taken not to fasten the tension adjusting screw
too tightly.

® Variable resistors in the DD motor coritrol circuit

The variable resistors (eVR1, eVR2 and eVR3) in the DD motor
control circuit are used for adjusting wow and flutter. These variable
resistors have already been adjusted accurately before shipped, be-
cause a special measuring instrument is required for adjustment.

Therefore, when the motor is required to be replaced by a new one
because of irreqular rotation, replace the motor assembly and all

(Stock No. 18022201).

4. OTHER PARTS

Parts List <Front View>

Parts No. Stock No. Description
1 18026401 Tone Arm Ass'y with Cartridge
SV-S303
2 13110600 Stylus, SN-S303
3 13103900 Arm Rest
4 13105000 Control Plate
5 18025401 Push Knob Ass'y (1)
5-1 Mounting Plate, push knob
5-2 13099700 Push Knob, START/STOP
5-3 13099800 Push Knob, MANUAL, UP/
DOWN, REPEAT
6 13100000 Slide Knob, SPEED,
SENSITIVITY
7 18025501 Push Knob Ass’y {2)
7-1 Mounting Plate, push knob
7-2 13099800 Push Knob, CLEAR, music
' selection 1 ~ 7
8 13099900 Push Knob, POWER
8-1 Knob Holder
9 13099210 Turntable Platter
10 13099110 Turntable Sheet
11 13012300 EP Adaptor
12 13112000 Dust Cover Ass'y
13 13113600 Side Hinge (L)
14 13113700 Side Hinge (R)
15 13113800 Hinge Cap
16 13115100 Screw, M2.6 x 8
13097300 Insulator

Note: Parts without Stock Nos. are not supplied even parts

names are listed in the parts list.

Parts List <Top View>

Parts No. Stock No. Description
1 38004700 Power Supply Cord
2 39106000 Strain Relief )
3 13062500 Output Cord
4 39105700 Strain Relief
5 46170400 Jack, computer editing
6 13097910 Wire
7 13097400 Pipe (S)
8 13098300 Pulley (B)
9 13106000 Pipe (L)
10 13106200 Pipe Holder
11 18022201 SSD-1 DD Motor Ass'y with
controi circuit board S-0097
12 15005801 Power Transformer
07204700 Slide Switch, voltage selector




P-M7

4-1. Front View

Cabinet

4-2. Top View _ Auto Mecha. Guide

Sensor Holder

Tension Adjusting Screw Fastening Bolt

Tone Arm Height
Adjusting Screw

©)
10)

Auto Mecha. Guide

Auto Mechanism Ass'y(II)
(See of Exploded View
Auto Mechanism Ass'y)

Auto Mechanism Ass’y(l)
(See of Exploded View
Auto Mechanism Ass’y)

Test Terminal

TP5(GND)

Connector(No.9)




P-M7

5. EXPLODED VIEW OF MECHANISM Ass’y & PARTS LIST

5-1. Auto Mechanism Ass’y (I)

Mechanism

Parts List <(D~B0>

Chassis

Parts No. Stock No. Description Parts No. Stock No. Description
1 46176300 Micro Motor 15 13111600 Compression Spring
2 55029810 Rubber Cushion 16 13097800 Sensor Holder
3 13103800 Belt (B) 17 Sensor Circuit Board, S-0113
4 00436500 Pan Head Screw, M2 x 4 18 00421300 Pan Head Screw M2.6 x 6
5 13098100 Shaft Guide (B) 19 13111500 Tension Spring (2)
6 13134200 Warm Shaft Ass'y (B) 20 51830000 CS-Type Washer, M2
7 13122300 Binding Head Deltite Screw, 21 00466500 Plane Washer, M4
M3 x 6 22 00469700 Spring Washer, M3
8 11602700 Micro Switch 23 51626500 Hexagon Head Screw, M3 x 6
9 13127800 Binding Head Tapping Screw, 24 00466700 Plane Washer, M4
' M2 x 12 25 00469800 Spring Washer, M4
10 13103700 Lifter Cam 26 00463800 Hexagon Nut, M4
11 13098910 Lifter Plate 27 13096810 Position Guide
12 13115200 Slot Type Set Screw, 28 51625100 Pan Head Tapping Screw,
M3 x 10 M3 x 8
13 51825000 Thrust Washer, FT3 29 13111400 Tension Spring (1)
14 00489000 E Type Washer, D2 30 51830000 CS-Type Washer, M2




Parts List <GD~G6) >

Parts List <@)~@) >

5-2. Auto Mechanism Ass’y (Il)

Parts No. Stock No. Description
51 18026401 Tone Arm Ass'y
51-1 — Cartridge, SV-303
51-2 Pipe
51-3 Pipe Holder
51-4 GND Rag
51-5 Pan Head Tapping Screw, M2 x4
51-6 . Pan Head Screw, M2 x 4
52 18026501 Arm Shaft Bearing Ass'y
52-1 Arm Shaft Bearing
52-2 Radial Bearing
52-3 Arm Bearing
52-4 Pivot Bearing
52-5 I Holder Ring '
52-6 Slot Type Set Screw, M2.5 x 2.5
53 13096700 Holder Weight
54 13114100 Pivot
55 00463600 Hexagon Nut, M3
56 13127200 Hexagon Socket Head Screw,
M3 x 10
57 00469700 Spring Washer, M3

Note: Parts without Stock Nos. are not supplied even parts
name are listed in the parts list.

Parts No. Stock No. Description
101 46176300 Micro Motor
102 55029810 Rubber Cushion
103 00436500 Pan Head Screw, M2 x 4
104 60322310 Belt (A)
105 13098400 Warm Shaft Guide (A)
106 13134100 Warm Shaft Ass'y (A)
107 13098500 Drive Gear
108 13098300 Pulley (B)
109 51822600 Thrust Washer, FT4
110 00489200 E Type Washer, D3
111 00437600 Pan Head Screw, M3 x 20
112 13112800 Flanged Screw, M3
113 00466700 Plane Washer, M4
- Abbreviations -
1.Pan Head Tapping 6.Binding Head SEMS 11.Hex. Socket 16.Retaining Ring
Screw ... PT Type F Screw . . BSF Type Setscrew . . SC Type {E Washer). E Type
2.Washer Head 7'::,‘::“,"..?%“9- '2'::::: .. S5 Type I?.Lz:::hnd'El.ock ]
— e T (TLE Washer
A @ 13.8inding Head @ n
B.Flat Counter Sunk SEMS B Screw
3.?_--_- th...d.s.:“:Tvpe Head Serew . F Tvpe ... .. BSB Type 18, Wave Washer
© G: B.F(I?Cmmu Sunk 14, SI@ @ E
4.Pan Head SEMS A Wood Screw ) . T"_m_u?._‘r“"s Type 19, Hexagon Nut
S;::w . M PSA Type wme s FC Type @ a H Type Nut
@ H— @ [mmmme o waner Q@ H
5.Pan Head SEMS B 10.Aound Hesd Weod . ...... P Type

10



6. PARTS LOCATION & PARTS LIST

6-1. S-0107 T.A. Control Circuit Board (Stock No. 13108601)

Component Side

eSince some of capacitors and resistors are omitted
from parts lists in this Service Manual, refer to the

Common Parts List for capacitors & resistors

!

which was appended previously to Sansui Manual.

A B C D
[ VR2 VR4 J
¥ JW19
Q © R73° R74 R75 —NV—RT76
— ‘P g TP5 Qb(:? —A— — + o o
14 o —®
VR1 VR3 e e R79 R7E _ +D DZ+ © e $ :f ol o] —— RO
ws | | E d P
we 2| |Z« by =
R61 JWT7 N -'8 TIw3s o i,
o = o A~ C9 C20 ~ + o - o
1 © > 51 1] < 2 R1 —A- g
FOm T et =ttt R ol
' T + % o §+ 2T 5 i Lol Uy
m+ 5 ci7g @l lo 1L | A~ © o o <0
& N B e 1T '_J_ﬁLo, ol @& <
5 ﬁLJ" c10 0211- 4 )\Y"g <" ‘ 8 =1 "
T - c5 = I
== (=] To]
JW1 gu::ts %gg% 1L J o 0 '!r Yy e —A.-:g o~
A, < Y
4 5 + @9 NV Wis & © j‘::? g —A—R6
o g TLQ_— W14 @ ® o s —A—R5
o L — = - i
21 o By §|5%§§{9 A B =l ——Ra
™ = w e —A—R3
ct ¥y = TL“‘ e a) o - 4 vy 4 —A—R2
i1 JW8 ~ = < a T —A—RI1
@ o — € 1P1
ge]
- ® ~ i @ —@ _Dh,_
2| = o + & c2e WS 16 wa7 (R s
@ | s g e qy slolzl o D2 d | [
mm e & @ E 1L R22 IPB = ; z g —A— E E
z|Z 13.%1& g *@.ri0 B Cc2 RIS -\
o @ % ® - c28} q N
* P4 2 + a c22 Q" a -
@ _Jr*2 . % 20 18
&
! S s | 2 o i
, )
Parts List
Parts No. Stock No. Description Parts No. Stock No. Description
fXO1 46149200 Ceramic OSC Element 3.58 MHz fIC9 46173100 NJM2904D
‘ , or 46173200 uPC358C
eTransistor fIC10 07205200 NJM2902N
fQ1 07194801 2SC1815 or 07258300 MB3614M
or 03059501 2SC945 fIC11 07272700 MSM4081RS
or 07299701 2SC2603 or 46164400 MB84081B
fQz2 07194801 25C18156 flc12 46122900 MSM4538RS
or 03059501 2SC945 or 46160800 TC4538BP
or07299701 2SC2603
fQ3 07194701 2SA1015 eDiode
or07197001 2SA733A fD1 ~3 03111600 152473D
or 07299601 2SA1115 fD4 ~6 03103300 TN60
fQ4 07194801 2SC1815
or 03059501 2SC945 eZener Diode
or 07299701 25C2603 fDZ1 46102600 0528.2-Z
fQ10 07263501 25D600 fDZ2 46102600 0528.2-2
or 46149401 2SD794
fQ11 07263401 2SB631 fC16 46028100 22uF 25V E.C.
or 46149301 2SB744 fc22 07214600 0.15uF 25V C.C.
fC23 07213600 22000pF 25V C.C.
e|C fC24 07213600 22000pF 25V C.C.
f1C1 46160200 MB74LS09 fC25 07213600 22000pF 25V C.C.
or 46160300 M74LS09 fC28 07213600 22000pF 25V C.C.
flC2 46160200 MB74LS09 fC29 07213600 22000pF 25V C.C.
or 46160300 M74LS09 fC32 07214600 0.15uF 25V C.C.
fIC3 46165200 MB8841-566M
fiIC4 03611800 MSM4049RS fVR1 10352300 Semi Variable Resistor 470k (B),
or 46160400 MB84049B E Sensor adj. _
fIC5 03611800 MSM4049RS fVR2 10352300 Semi Variable Resistor 470k (B),
or 46160400 MB84049B F Sensor adj.
fIC6 46164300 MB84066B fVR3 10342700 Semi Variable Resistor 10k (B),
or 07264600 MSM4066RS F, Sensor adj.
fIC7 46160700 ~ NJM4556 fVR4 10343700 * Semi Variable Resistor 470k $2 (B),
fIC8 07258300 MB3614M E, Sensor adj.
fRL1 46173300 Relay

11




6-2. S-0105 Power Supply Circuit Board (stock No. 13108401)

-]
2
c
]

Component Side Parts List
[ SANSUI 0105 POWER SURLLY (h) \ Parts No. Stock No. Description
PS) L =m -~ olC
1 2 hiC1 46160100 M5230L
T E »
eDiode
o N HE o hD1 03117000 RB-152
o~ v hD2 03117000 RB-152
. ) 4
o] e I hC1 00386000 10000pF 150V C.C.
s L , - hC15 07214000  47000pF 25V C.C.
3 S B
“ég ic1 N i — . Ao hSW1 07270400 Push Switch, POWER
— o i

8
S
7o
=5E
M
o -
N+!
v2
tal
A+
‘I n
m m
-] (=]
L

En
BLACK

® Note: The circuit boards, S-0097, $-0108, S-0106, 5-0111,5-0112 & S5-0113 are not supplied .
as the assembled. However, individual parts on the circuit board are provided by orders.

6-3. S-0097 DD Motor Control Circuit Board

Component Side Parts List
[ h Parts No. Stock No. Description
eHall IC
46172600 HA-200A with Board
é eTransistor
eQ1 46149401 2sD794
eQ2 46149401 2sD794
SANSUI Q3 46149301  2SB744
eQ4 46149301 2SB744
[ e|IC
elC1 46146400 TC9142P
elC2 46147700 M5218L
or 46087100 NJM4558S
or 46146500 BA715
S-0097 elC3 46147700 M5218L
or 46087100 NJMA558S
or 46146500 BA715
eX01 46159700 Quartz Element 5.5296 MHz
eDiode
) c1 Iwi eD1 03111600 152473D
'_
C—ﬁ— l«ﬁr@— @27 mscE@ i
T $%cig:l | cn@y | ome *Zener Diode
n 2 ) - eDZ1 46104300  05Z15-Y
:&t S #g ] eDZ2 46104300  05Z15-Y
B9 2 T*O s[_]as eDZ3 03166300 RDS5.1E
C6 R6 2] BN VA B W4
G~ Ve m—, 3 C_Jas eCi 07213600  22000pF 25V C.C.
c3c4 =
i N & eC2 07211300 1000pF 25V C.C.
G *g R20 —Ja: eC5 07214000  47000pF 25V C.C.
[=] —AAAN— C10 n:s c:1:!
P _@ eC14 00305800 2.2uF 25V E.C.
o oY - vu@ @C" eC15 00305800 2.2uF 25V E.C.
devie Dl 4 @ eV R1 07241100 Semi Variable Resistor 2k 2 (B)
ot L g DZ3 i eVR2 07241100 Semi Variable Resistor 2k§2 (B)
11 = eVR3 07241000 Semi Variable Resistor 1k2 (B
MO.CONTROL (e) S ;m )
5 a5 -
\ J

6-4. S-0108 Control Circuit & Indicator Circuit Board

Component Side

¢ sy Tt - = T T—
- = o [x] - -~
R T T ] e Yty Ty
- - - -t = -d -
- 51 52 53 54 55 ‘ST

SANSUI

S [ |

INDICATOR(9)

] 1[ I II

|

IW3

T

Parts List

Parts No. Stock No.

Description

gLD1 ~8 46162500

gLD9 46189700
gLD10 46162500
gsSW1 ~ 7 11320900

Light Emitting Diode
SLR-54URC (Red)
Light Emitting Diode
SLR-54PC5 (Green)
Light Emitting Diode
SLR-54URC (Red)

Push Switch (Tact), RANDOM
ACCESS PROGRAM 1 ~ 7

6-5. S-0106 Power Supply

Component Side

Circuit Board

- SANSUI
pr=t -0 —_ ©
iC1 v Qaz 5 Q 1B o
== — =
cz2 c3 (]
] ] @]

Parts List
Parts No. Stock No. Description
eTransistor
hQ1 46149401 25D794
or 07263501 2SD600
hQ2 46149301 25B744
or 07263401 25B631
eIC
hiC2 07183500 uPC78MO5H
hC2 07214000 47000pF 25V C.C.
hC3 07214000 47000pF 25V C.C.

6-6. S-0111 A, B, C Sensor LED Circuit Board

Component Side

+15 LD3LD2 LD1
hat > >+ >t
+15 Z-0026
LED sANSUI s-01M

Parts List

Parts No. Stock No.

Description

fLD1 ~ 3 46182000

Light Emitting Diode
LN25RCP (Red)

{
{
B
L

TA

Parts No. Stock No. Description
gSws 11320900 Push Switch (Tact), CLEAR
gSwa 11320900 Push Switch (Tact), REPEAT
gsSwW10 11320900 Push Switch (Tact), UP/DOWN
gSW11 11320900 Push Switch (Tact), MANUAL
gSW12 11320900 Push Switch (Tact), MANUAL
gsSwW13 11320900 Push Switch (Tact),

START/STOP

fsS1 07249800 Slide Switch, SENSITIVITY
fS2 07249900 Slide Switch, SPEED

6-7. S-0112 A, B, C Sensor Photo TR Circuit Board
Component Side
ail a2 a3
E E E [&]
m
L= 4
SANSUI S-0112
Parts List
Parts No. Stock No. Description
eTransistor
fQs ~7 46169200 Photo Transistor PN150
6-8. S-0113 Arm Servo Sensor Circuit Board
Component Side
SANSUI
S:013 ;
Qs Qg 5% ;‘%
o o
Parts List
Parts No. Stock No. Description
eTransistor
fQs8,9 46194301 Photo Coupler PS4010-L
~—® Abbreviations -
C.R. .. Carbon Resistor E.L. .. Low Leak Electrolytic Capacitor
5.R. . . Solid Resistor E.B. .. Bi-Polar Electrolytic Capacitor
Cea.R.. . Cement Resistor E.BL. . Low Leak Bi-Polar Electrolytic
M.R. . . Metal Film Resistor Capacitor
F.R. . . Fusing Resistor Ta.C.. . Tantalum Capacitor
MN.LLR. . Non-Inflammable Resistor F.C. .. Film Capacitor
C.C. .. Ceramic Capacitor M.P. . . Meitalized Paper Capacitor
C.T. . . Ceramic Capacitor, Temperature P.C. . Polystyrene Capacitor
Compensation G.C. .. Gimmic Capacitor
E.C. . . Electrolytic Capacitor

12



A

F

G

13

SCHEMATIC DIAGRAM

* Design and sp

* La présention et les spécifl

t to ch

without notice for improvement.

sont

d'étre

* Anderungen, die dem technischen Fortschritt dienen, bleiben vorbehalten,

sans préavis par suites d'améliorations éventuelles,

~ = = - - - . - . = = = i i % 2541015  2SBA3I1
s-olo08] TA. CONTROL (f) - b MO. CONTROL (e) 415 25A7334: 258744
5 20V~ 22V 25C945  25D600
25C1815 250794
' B o QUARTZ LOCKED Ind.
! +15v : .
SPEED 3315 S45rpm 3
_]_‘ y & cs ‘
fSa FICs START /STOP e i @/ tca
i o g ) > |ty ?
noml &’m_sm = ! e "5y | " 2SAINIS  peroens
Ry 334 l edy 22K o ale
y @\5“‘" ._-,.%'_‘Cl}” FICy O B TR & L2av, s S eCu22f2s| !
s ' D mug ": i Py & | ll:m 2K LEP) ics
p<d o—;&;wcp 2 o r 2 3 s 5 § g
e R, * sv -20V~-22V
5 o 1o L LG 3 ' l o200 oCs 0.067 & WPCTBMOS |
. EC'] 2507 NIM2904D
4 PG P B PR £ ox; Pl eRs220K +I5V +20Un+22V i - )
o PR G e o HIR 5529880 v BT
" Pt ol 2 f1Cs —— 33 = ‘ﬁ 5 £5 S
' = e [ [ & de sl o] "2
P s ¥ 6 i hd =3 oF
o — s @l —1 s P €7 g2 MSMA0BERS
9L 3 1 Hts 5 2 sV 2w o+ b ™ J MSM4081RS
? G =torme( iz o P e ' $ -
3 i s I5e 1l Sy o
REPEAT Pt ..;G}‘_J o o Re 53 «a: 25D794(P,Q) =1 3 ' ~=
oyl . 2 s &4 . it
cev o £, o A 22 i, TC9I42P - L Yeeg ®
= 4, 180 Vss Ra |72 S ol st [+ o s 1
emnzl oo :»—';» TRy 10K elcsy BATIS,NJM4558,M5218L SSEIFNTE 33 MSMA049RS
LoCKED i 7 ! fICs e0,  152473D
: T 1 <oz, OSZIS-Y ok &Y . MSMa538RS
4105, SLR-SAURCS | i \  eb7; RDS.IE | O R ! (Ey ——
ity SLR-54PC5 | @% -1 =4 ﬁ' \T\;]
iE =33 MR
1 — i} w2 5 MB3B14M
- SSD-I B _ 3;( ‘i ﬁ_"’ ~20~-22/ ~15v _ $-0097 NJM2902N
— — :
—ter — .
12 = i i S ?
o T § = "
SH, «I5V = |
A i {g_ 2 3 | Ry 470K :{?;"‘
2 |ssmedg : §§E=J_ [ 7es 3300
= L 1 " FiCs -
3 g5 ad & | FRez I0OK 2L a 2 OQ;;
o JO | 1 '
4 S " #IC
o SorsT | 1+ TS 7 vasase
i 3 4
5 1gswid _jig — e, in_ EI:‘ 8
L} -
o o g 88 s-oioe] ¢ 3o
o -
7 g ... i i té $-0105]
ceenr |gsmdd ol W £ FIc, i 0047/25 :
g TCs AT -
! o [ 84 T o = E 77 ) = .
i ! : J.{EJ_ o £y es (4 & ’ '(L.r& < .5}
P, DUWN 95!&,{2_ o~ s 7 1 a o Y : g ™ * = 1 . ",:'»2-' :
* #hry 100K ] srue Js|E i3 _ ) |
sanal’ a5¥ir]g [ | 2 ——— 5:1: R,
] =] MBB40818
o1 g5#in] i e Ig S5z 828 - + 15V MB74L509
o = I 3 1 ~i5V beg
S’WNNI,!S%-'I‘, I 1 : 2
=2 — DOWY o_’l = ey 0.022 FiCs : 3 S T
1LD, | I 3 - & B =
-y X Y #It e ~7
A sensor| @ "0 |2 @m. . 2Pt L 2 2 1 sa; 2SDS0O(E,F)
o sensor! () Zl g 1 S~ FTCs & 2 +9: 2SB63I(E,F)
#0 2 ' | 5% 258744(Q,P)
c sensor| ()0 | =2z 3 I hiC, M5230L
%] ~© hiC; UPCTEMOSH
S-OiTl | E o,z RBIS2
2| Jg|earv
£ SENSOR - - FEX -
4
Q 5-0107
| fdye 25CIBIS(Y,GR),25C945(Q,P,K), 25C2603(E,F)
F SENSOR fa; . 2SAIOIS(Y,GR), 2SA733A(0Q,P), 2SA 115 (E,F) POWER SUPPLY(h) J
fa,e 25D794(0,P), 25D600(E,F)
fan  25B744(0,P), 25B63I(E,F)
SENSITIVITY 400, Flrey 1S24730D SyYMBoL RESISTERS
- = — 0y 5. IN-60 & Ceramic Are in ohms, % Watts, *5% Telerance SYMBOL OF FUNCTION
45,6 AB152
;zi;?rﬁ?v i 0z,s 05Z8.2Z ® Mylar Untess Otherwise Noted, K42, m:02 (@) MO, CONTROL
|'\ w Styrol
= : o] o | e ugg‘;‘;f_%%su © Tantalum Electrolytic CAPACITORS (f) T.A. CONTROL
STy WF €1 #ic.s MSMA049RS, MBB40498 © Lowotoak Etocerobrtte Are in uf, Untess Ounerwisetoted £p7 (@) INDICATOR
I 15 -, » ow -Lea i
I oo >= R o, fic; MBB40668,MSM4066RS WP) i -olar Eleotrolytic TOLERANCE (h) POWER SUPLLY
.. 2 ] f/ ficn s £, ric, NJMA4556 (RP) Polypropylens Film Ji5%, 6:22%, F121%
- i, il RPN S - L L T iz FICy0 NJM2902N,MBB40EIB ® Folycarbonate Film
Fr £ i iy AL, E T3] §E 3 S fICs MJM29040, uPC358C (L.B) Low-Leak Bi-Folar Electrolytic Each D.C Voltage measured by the o
& oi—( [} 2600 470 | 4. ] " fic, MBB40BIRS,MBE408IB @ Fusing Resistor instruments discribed below shows 5-4010 052822 H
H H ~ égu I rrc, MSMA4538RS, TC4538BP @ Mon-Inflammable Resistor the nominal value in volés at 33%rpm. RD.5 1E INGOP
IEO Ec' Fies Fon Fm FR) § £ s-0l11 v - E‘kéul fi;: Resistor Measuring instruments 1524730
| O Cement Estor Volt Meter
fSi fLO1-3 LN25RCP ® Aon Inductive Cement Resistor 0Oscilascope
} I g S- Electrolytic Capacitor
-] ;a,..q PNISO :Capacitance [pF) Nolt [V) __‘ . 3
< ] — - =013 ' : ]
s-0i68] __T5 2 = _ - _ [S-01067] %,, Psaoio-L } £
? a




8.

MAIN PARTS REPLACEMENT

8-1. Replacement of Tone Arm Horizontally Driv-

1)
2)
3)
4)
5)

ing Wire (See Fig. 3-4 on Page 6, Top View on Page 8)

Remove the cabinet. (See How to remove the cabinet on Page 7)
Remove the mecha guide.

Loosen the tension adjusting screw.

Remove the pully (B).

Take off the screw (A fixing the driving wire under the mecha-
nism chassis.

8-2. Replacement of Arm Bearing Ass’y (62

1)
2)
3)

4)

(See of Exploded View of Mechanism Ass’y on Page 9, 10)

Perform items 1), 2), 3) ““8-1. Replacement of Tone Arm Hori-
zontally Driving Wire” first.

Loosen the hexagon socket head screw (6 to remove the tone
arm ass'y ().

Loosen the nut G5 , the pivot (G4 to remove the arm holder
weight (3 .

Loosen the nut 26 to remove the arm bearing ass’y.

8-3. Replacement of Lifter Cam (0

1)

2)
3)
4)
5)
6)

(See Exploded View of Mechanism Ass'y on Page 9, 10)
Perform items 1), 2), 3) “8-1. Replacement of Tone Arm Hori-
zontally Driving Wire” first.

Perform items 2), 3) ‘“‘8-2. Replacement of Lifter Cam”

Remove the arm holder weight G3.

Remove the E-type washer (19, plane washer 3, spring 1.
Remove the lifter plate (1)) .

The lifter cam can be taken out.

8-4. Note on Parts Replacement

1)
2)
3)

4)

5)

When replacing a parts of the mechanism ass'y, remove the
stylus.

When replacing the worm shaft ass’y (B)@, remove the worm
shaft guide (5), the screw (7).

Refear to Fig. 8-1, when wiring from cartridge (tone arm ass’y
@D ).

When replacing a parts of the mechanism ass’y, make proper
wirings referring to the top view on page 8 and Fig. 3-4 on page
6.

Perform adjustment 3-1, 3-2 and 3-3, when replacing a parts of
the mechanism ass’y.

Fig. 8-1. S-0116 Circuit Board for connections between P.U. Out-

put cord & color wires from cartridge, E sensor and F sen-
sor.

P.U. Qutput Cord

-

gray

_'k+\_
d - e
Color-wires re —5\ £
- from I N
—m

.\.:u

ol
Em..*

Curtridge, | black
E, F Sensor

purple
vellow

gray
lorange

e )

P-M7

9. PACKING LIST

Parts No.  Stock No. Description
1 _— Corrugated Board
2 91165200 Polyethylene Bag
3 13099110 Turntable Sheet
4 13112000 Dust Cover
5 Styrofoam. Spacer
6 Special Tapping Screw
7 E— Tag Washer
8 13012300 EP Adaptor
9 Binder
10 —_ Tag Washer
11 00428700 Binding Head Screw, M4 x 14
12 Turntable Unit
13 91122710 Polyethylene Bag
14 13108200 Inner Packing (Right)
15 13108300 Inner Packing (Left)
16 13102800 Carton Case

Note: Parts without Stock Nos. are not supplied even parts
name are listed in the parts list.

10. ACCESSORY LIST

Stock No.

Description

46142800

Operating Instruction

14



SANSUI ELECTRIC CO., LTD.: -

SANSUI ELECTRONICS CORPORATION:

SANSU| ELECTRONICS (U.K.

SANSUI ELECTRONICS G.M.

) L
B.H

TD.:

14-1, lzumi 2-chome, Suginami-ku, Tokyo 168 Japan

PHONE: (03) 324-8891/TELEX: 232-2076 (International Division)

1250 Valley Brook Ave. Lyndhurst, N.J. 07071 U.S.A.

333 West Alondra Blvd. Gardena, California 90247 U.S.A.

3036 Koapaka 5t. Honolulu, Hawaii 96819 U.S.A.

Unit 10A, Lyon Industrial Estate, Rockware Avenue, Greenford, Middx UB6, OAA, England
Paul Ehrlich Strasse 8, 6074 Rodermark 2, West Germany

(SM1-39) Printed in Japan (220530M) <Stock No. 36465200>




